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2IAE  BI WS SAL (EF1:R)
- = ()1
| .0IXelZE=2 71,085,720
1.HD|01Z0IMCIZE=S -
2.z 71,085,720
I.Z2ESXeH _
I.X2I010IMeIZE= 71,085,720
10. UHe A =2 & THAAIREEl S
gl & gde A+ & HAIEE s2 Ws2 sl st

4 A== CHEHAHSH] 2 0IXIS3(%) 2 HF (%)
S2HAB XS - - 15,377,565 17,770,149,323
SZEHAZSA 301,057,165 301,057,165 1,016,010 472,393,091
EaHNSHIEES 225,817,959 225,817,959 52,762,682 46,443,578,549
SIS 2,663,096,518 2,663,096,518 358,298,822 -
HAeH2X 88,325,963 92,218,163 244,898,804 -
SAHEE=A 427,279,194 444,738,611 - -
2Ll 3,705,576,799 3,726,928,416 672,353,883 64,686,120,963
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